o(d dxy) (cm)

OL-VYOIT.

Rati

0.954

=

Jl_éiéé

o(d dz) (cm)

N : +
*# # + **#*I*

*5 #5 +

3 3333
=RXXAAN

Fite_XiMnusNOPU_bas

Fit5~ XiMinusNOPU™]| retraanIdF|Ie5125 _v2_prelimWPM_epoch4
Fit6_XiMinusNOPU"bas

Fit6_XiMinusNOPU_| retraanIdFlle5125 v2_prelimWPM_epoch4

Fit5 XiMinusNOPU retrainOldFiles125 v2_ANDPLessRetrain_epoch4

mline)

..........................................................................

ﬁ%

2 3
TP ® (PCA to beamline)

o p_/p.)

30R[

Rati

0.95

¢
*ﬁ,,;-# *;4!*

10 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


